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SA-EB - BAEH) - NRAY - BHES 0l & o o1E o HIDE2
off 2 == 41t 11,710,350 11,903,397 A 193,047
= 1,102,521 1,102,521 0
Xl 3,646,000 3,646,000 0
J| 1,900 20,000 A 18,100
< 1,464,922 1,464,922 0
Al 5,495,007 5,669,954 A1T4,947
AJIE2 HEZYE & M SH (ol LL/oi 11,610,790 11,803,837 A 193,047
SNV E
= 1,090,521 1,090,521 0
Xl 3,646,000 3,646,000 0
J| 1,900 20,000 A 18,100
) 1,464,922 1,464,922 0
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oH==AtDIEtESE 2 el & 2,847,896 2,874,552 A 26,656
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J| 1,900 0 1,900
=) 387,810 387,810 0
Al 1,372,186 1,400,742 A 28,556
=AEFT A X 143,500 151,000 AT,500
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02 QIZtE M AHE X 10,000 20,000 A 10,000
OFLUESZTSEME (ML) BHEHA X
10,000, 000& 10,000 20,000 A 10,000
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01 AFR2t2l ] 13,900 15,000 A1,100
OBt~ 9,900,000& 9,900 11,000 A 1,100
301 et a = 9,280 13,000 A 3,720
09 AL HI B A S 9,280 12,000 A2,720
OxMAFZO HMICHE FAR AU
5,280,000& 5,280 6,000 AT20
O -t us ¥ A AL AHl2d
1,000,000 1,000 3,000 A 2,000

MIIEtEd = 0 1,000 A 1,000
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SA ST
Hu: MIIZES HETH U 24002 SH(STHSLL/HL2 - O E)
Sel: AARATH U HUALSEH CER-ED
SA-ZH () - HRAY - BES Off &4 JEH Hnsz
= 73,000 73,000 0
Al 13,000 30,000 A17,000
307 2I2HOI & 26,000 43,000 A17,000
= 13,000 13,000 0
Al 13,000 30,000 A17,000
02 BIHA AR B 26,000 43,000 A17,000
©2JtAt2l PRIA S 26,000,0002 26,000 43,000 A17,000
= 13,000 13,000 0
Al 13,000 30,000 A17,000
OEA =8 U oM 1,575,798 1,615,498 ~39,700
= 774,700 774,700 0
= 269,976 269,976 0
Al 531,122 570,822 ~39,700
S0 NSHs L oY DS 91,100 100,800 £9,700
301 LEEAS 0 5,000 A5,000
09 EAAIHI 2 A S 0 5,000 A5,000
OO0l DT HAX AUl 0 0 5,000 A5,000
401 A& HIL 2O 35,300 40,000 A4,700
01 Al&HI 35,300 40,000 A 4,700
OUYNETH Hlx2l L U<
35,300,0002 35,300 40,000 A 4,700
GAFE Sas A 0 30,000 30,000
401 A& BIL 2O bI 0 30,000 30,000
01 Al&HI 0 30,000 230,000
METE GAFNS ZHID Z4 I2ENS
o 02 0 30,000 30,000
ClotEAEE U 0zl 4,702,586 4,773,218 AT0,632
= 5,000 5,000 0
oy 2,064,000 2,064,000 0
ol 0 20,000 A20,000
= 547,560 547,560 0
Al 2,086,026 2,136,658 A50,632
O1OHOI & 20N & Al 0 20,000 A20,000
ol 0 20,000 A20,000
101 Q124 0 20,000 A20,000
ol 0 20,000 20,000
04OIRAM2RSES 0 20,000 A20,000
OOEMOI MIla) ol 0 0 20,000 20,000
p] 0 20,000 20,000
GlotE R A 317,000 369,632 A52,632
101 Q124 bl 0 8,632 ~8,632
MIIZRZRTNSE S 0 8,632 8,632
oMM 401 AR U 4 HEHE 0 0 8,632 A8,632
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MY M)|E2 OEXL L 24002 S (SHHSS/HLSL - 0E)
el QIOIBETE U o CER-ED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
206 T 2 H 0 4,000 A 4,000
01 eI 0 4,000 A 4,000
ORE YHMIH - %E L ASE 7Y 09 0 4,000 A4,000
207 o1 P L bl 0 40,000 40,000
01 eyl 0 40,000 40,000
OXUTALS T HH EIFHETAN 8% 0 0 40,000 40,000
dAUH S F 22 80,586 78,586 2,000
201 L2l 20,000 8,000 2,000
02 22| 9,000 7,000 2,000
0322 <L MA 8,000,000 8,000 6,000 2,000
WLHH U oEAZNY 193,000 195,000 ~2,000
2 30,000 30,000 0
= 9,000 9,000 0
Al 154,000 156,000 A2,000
HYHATR 2FBe 63,000 65,000 £2,000
201 L2yl 23,000 25,000 £2,000
02 2zl 14,000 16,000 £2,000
0322 ¥ MA 8,000,0002 8,000 10,000 £2,000




